Volume and Surface Area of Prisms
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1 The diagram shows a prism.

5cm

(a) Work out the volume of the prism.

-'7_’xl1)<5= J0em*
LOx (0= 300%3

300 ..

(b) Work out the surface area of the prism.

VL x 1LXx 5= 30um*

‘/q,xl‘)_xs-—isom\’- L0 +¥30 + 12D

0 x |2 = 110wm" +'§0521030
0x S = 0um -

_ "
lO x (1 - \-.’DOUV\ 360

: cm?
‘ (Total for Question 1 is 7 marks)
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2 The diagram shows a prism.

8cm

6 cm

(a) Work out the volume of the prism.

k;_x BX%‘—- 2Ll-w1'
W x IS = YoOun®

160

3)

cm3

(b) Work out the surface area of the prism.

Vax 6X3 = Qrum®

l/—}_x BX%'- 2h—w"
()Xlsi-q()ow\z

XIS = (W aum?

LOXIS = IS0 um?

4% +24+ 90 + 120 1SO = 40%

408 ..
(4)

(Total for Question 2 is 7 marks)
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3 The diagram shows a prism.

5cm

7 cm
6 cm

(a) Work out the volume of the prism.

2 x b x4 = 1 2um®
2% 3 =8 am>

cm3

(b) Work out the surface area of the prism.

Y2 x b x4 = 2umt
Y2 x bx Y%= 2umt
bXF:= Glem®
FXS = LS omt
FX S = 3T un?

T+ 1L +42 +25 x5 = |36

|26
(4)

(Total for Question 3 is 7 marks)
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4 The diagram shows a prism.

12 cm

/ 4cm \
9cm

18 cm

5¢cm

(a) Work out the volume of the prism.

V(1L +18) x k= GOum®
60 x 9 = 94D un?

S0

(b) Work out the surface area of the prism.

V(1L +18) x k= G0um?
72011 +18) x k= 60um™
AX 5 =4S um?
AX 5 =4S um?
A%x18 = {60 om*
1Tx (1= (OFom
00+ 60 +45+45 162 +103 = 4%0 g

(4)
(Total for Question 4 is 7 marks)
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5 The diagram shows a prism.

3cm

Il cm

10 cm A

5 cm

8 cm

14 cm

Work out the volume of the prism.

A‘ZX\O'—'—EOWI
B: 1IxS = DS um®

W+95= DS om”
8BS x 3= 630 um’

680

(Total for Question 5 is 4 marks)
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6 The diagram shows a prism.

12 cm

8cm

The volume of the prism = 696 cm?

Work out the value of I, the length of the prism.

Yy x 3 x 1L = 68 om?
636 ~ 4% = 4.5

- %9

(Total for Question 6 is 3 marks)
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7 Prism A, Prism B and Prism C all have the same volume

Complete the table.
Prism A Prism B Prism C
Cross Sectional ) ¢ )
Area 24 cm ZOCVV\ 40 cm
Length 15¢cm 18 cm

Tem
Volume 160(“‘\3 EGOCM?' KGOCM‘B

(Total for Question 7 is 4 marks)
8 The diagram shows a prism with a cross section that is a right-angled triangle

hcm

The prism has a volume of 162 cm?

Work out the value of h, the height of the right-angled triangle

16 =12 = 13-5

Yix6xWh =125
+3Q$\'\ \35 ) 3

vl

I = L"S

(Total for Question 8 is 3 marks)
7
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9 The diagram shows a prism.

5cm
4cm
10 cm A 3em C 6.5cm
| - ==
|
3'S| B
) G s 8cm
12 cm

Work out the volume of the prism.

A: 10X S = SO’
B: Fx359=24-Som'
C: ¥ X3 = |2umt
SO+24%S +11L = €65

265 x & = 6972

(Total for Question 9 is 5 marks)
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10 The diagram shows a prism.

5cm

\

16 cm
The cross section is a pentagon with one line of symmetry.

(a) Work out the volume of the prism.

A: loxS= %0um”
B: Y2xlo x6 = 48 am*
30 + 49 = \28um*

128 X I15= 1920

(b) Work out the surface area of the prism.

ISx S=3S
ISx S=3S

IS xlo=150
S xlo= 150
|6 X (5= 240
S YAS x|S0 +150 +240 + 128 +129

46 ..

(Total for Question 10 is 8 marks)
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11 The diagram shows a prism.

11cm

The cross section is a regular pentagon.
The volume of the prism = 9368 cm?3

Work out the total surface area of the prism.
Give your answer to 4 significant figures.

9768 - 4+5= 20%- 1F...

ks x\(= 495
Y9S x 5= 435

T4 35 + 108-13...+ 0217 ...
= 1391.35S ..

287 ..

(Total for Question 11 is 4 marks)
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